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Performance Management
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Time : 3 Hours Maximum Marks : 70
Instructions fo Candidates:
Answers should be written completely either in English or in Kannada.

SECTION - A .
PN - .
Answer any S questions. Each sub-question carries 2 marks: (5X2=10)
CIITORIR 5 eUT BINIK wVZ0R. W3 YOI BINVR 2 Lo, - |
I. a What is cost drivers ? ' '

03 B, 0T 2
b) Define Flexible Budget.

238 esoBe, 0 BEICIRY, T, a5,V
c) What is throughput accounting ?

BRDT 2R, BT TTHS, 0BT ?
d) What is Life Cycle Costing ?

e ¥5,E B, 0T 7
e) What do you mean by material cost variance ?

B2 PR BIYR Q0GR 7
f)  What is activity cost pool ?

W@ 31, FonTEm 0W3ed 2 ‘
g)  Write the meaning of Management Reports.

QRF DT WOOD @i;js-‘wégl WTCWD.
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SECTION - B
aNpn - 0
Answer any 3 questions. Each question carries 6 marks: (3%6=18)
QRITTTR Sedd TIneR w3on. =8 TN 6 ©oIn.
2. What is marginal costing and also mention its characteristics ?
TR 3, 0TTeR DR 5o ORVIERNYE) 3T Ludeda.
3. Differentiate between standard costing and budgetary control.
BRI g, ) ST, VD0 RT FRT assasxﬁaﬁa& 233000
4. What are the sources of Management Information ?
er&s’ﬁa T[nSod SRONITY, D[R
5. In a manufacturing company the cost of pfoducing a component is Rs.10 each and the
same component is available in the market at Rs.8.50 with an assurance of continuous
supply. What is your suggestion regarding making the product or buy from outside.
The following further details are given:

Material Rs.5, Labour Rs.2, Variable overhead Rs.1 and Fixed expenses are Rs.2.

2,000 B03R0T FoDFIONE, 2.0 TRTI) WODS FHF, dR.10 3 oD TVR
2 €05 Dedodd S BRBEDY 3w 8e.8.50 0303, we3rR A803T FegFoh
IOSRODT) AD ST eI,

ASIISTX] é)a‘oja%a ROWORATOZ

[SIX]

EUBT ) TOIRORL eEmd BRONIT DOOIW AN FoT D 7 IR TeRO
DEONRY VBN, '

TN OR.5, 50F8 OR.2, eﬁ,’%d DWF de.l DR R‘)pd MDD dn.2.



6.

g

X Ltd. has
Total overheads

Total Machine

= 1,00.000

hours = 50000

R)

the following information &

pplicable

{o its products:

Product ’ﬂ”ﬁ—

Units of production T@m

Material cost pet unit 30 50
//L.________

Labour cost per unit 20 16

\Machine Hrs per unit 10 5
Eooee |

Seitup cc;sts : _’_—3_3—

_InspeCtion 45

Mat;?rial Handling 20

) ) ) A B Total

Setups - 300| 50 350

Inspections | s00| 250 750

Goods movements 300 700 1000

What is the cost per unit of A and B

(i) Under Traditional Absorption Costing

(ii) Upder ABC method
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X 000 33 ovdgirivrt ot S9NS ntodabit HR0nd,
e adudF = 1,00,000
L), oo3T Rotdrisy = 50000

4)

ENEEEE A B
e 2500 | 5000
N, 3 B Puwg/obeRerd | 30 | 50
Y g B3 Py 20 | 16
WS H B0RS o> 3 wuwg | 10 | s

| % Soeen szJm
R Sgicd 35
3TN da&iﬁ@o 45
BN DR 20

A B 283,
RTIED 300 | 50 350"
SRR 500 | 250 750
<08 Hodnd 300 1700 | 1000
A &%) B 3 38 woedi's 9 o) 7
() 0BT docotatrs S waodS
(i) ABC amosz9), |

» SECTION - C

: Xmn - &
Answer any 3 questions. Each question carries 14 marks:
ORYTBTAR SR BIner ww3on. 8 FIN 14 ©osrish,

7. What do you understand by Management Reporting,

| AsrEm IBOWT de) DI CTFRRREROBALD D30,

8. Explain the types of performance management.
TODFFRE ASFBHOD TTONII), QWO
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9, The following information relates 1o production and sales of an article for Jan and
Feb 2020:-

Month| Sales Profit

o 38000 | 3000 '
Feb | 65,000 2,400
You are required to calculate :-

a)  P/V ratio

b) TFixed Cost

¢) Break Even Point

d)  Profit or Loss @46000 sales

¢) Sales at carn a profit of Rs.5000

Loss

3 3UNS TnkIod WRTF ) BR0UT Wi, FOWORAT wIRO ) Fey,:0 2020:--

| donsd SN0 SIS S5
RIZO 38,000 - 13,000
T,T0 65,000 | 2,400 -

RER) B8 TINIYNISY, T0REBROWD:
a) P/V o038
b) agC &3
Q@ -
c) AR :‘wé WO
d ooy ezsm I, @46,000 BNV
e) Tn.5000 eeinesen R, YUY TRTHLTINWER.

A Company has a capacity of produemg 1,00,000 units of a certain product in a
month. The sales department reports that the following sales prices are possible.

Volume of Production 60% 70% 80% 90% 100%
Selling Prices per unit 0.90 - 0.80 0.75 0.67 0.61

The variable cost of manufacture between these levels is Rs.0.15 per unit and fixed
cost Rs.40,000.

10.

(i) Prepare statement showing incremental revenue and differential cost at each.
Stage. At which volume of production will the profif be maximum.

(ii) 1If there is a bulk offer at Rs.0.50 per unit for the balance capacity over the

maximum profit volume for Export and price quoted will not affect the internal
sale, will you advice to accept this bid and why.

[P.T.O.
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%030 FomRA 1,00,000 om:om;m GV DRUBITOT KO, rwoq RPODT. 20

3onoR Snoot NTNY) B3

39503303 wdC) m@"

R Bomr 0% | T0% | 80% | 90% | 100% ]
D8 oborisr snoos 98 | 090 | 080 | 075 | 0.67 | o061 |
3 URY Inoag VRS womdm B3y de0.15 @8 cdwediEr R0 AT gy
30.40,000.

i) I8

uooddwa dzi;)edm 353903 02 zﬁe—aoﬁ zsmo 2Re070x aa’wabcoo

Son0R. omsj SICDIaT oW Oaimau TOITE, cmj@ fo%-and)ad aowd»‘n
3nedy,

(i) woy WS T)MBI 8r.0.50 w@i Q30T eve? S e RT gy wer rfmé> Ontara]
waabasad eI TBpeem ROTF AR $0808 Inoong R0 Zomd
meo’m\&o

8 V& @ab

AFTORND DY) o QQ’ZSDBGUJ S 0B

Amba Ltd is expecting to have Rs.32000 cash i in hand as on 01-04-2020 and you are
required to prepare cash budget for the three months Aprll-June 2020.
The following 1nformat10n 1S supplied:

Month Sales | _ | Purchases | Wages | Expenses
Feb 70,000 44,000 | 6,000 5,000 .
Mar 80,000 56,000 | 9,000 6,000
Apr 1 96,000 60,000 | 9,000 | 7,000
May | 1,00,000 168,000 | 11,000 9,000
June | 1,20,000 62,000 | 14,000 9,000

Other information:

2)
b)

c)
d)

Period of credit allowed by supplies is two months.

25% of sales is for cash and the period -of credit allowed to customers for
credit sales is one month.

Delay is payment of wages and expenses one month.
Income Tax Rs.28000 is to be paid in June 2020.
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o POETIT.

e300 OQVEIT FOTIC30 8.32000 IRTI) 01-04-2020 89, RRODTIRT
. =gy sonent

ey SEh SOPROLRR ACEERS erigon. S YabT et
@@)U‘—Z:'JDSSS 2020. .

2N asmoaomg{ LWRNRNG.

3onsd I00E3 00D B3z | Dedrnd
Fwzo | 70,000 44,000 | 6,000 5,000
Sws'e | 80,000 56,000 | 9,000 6,000
DO 96,000 60,000 | 9,000 | 7,000
e 1,00,000 68,000 | 11,000 9,000
wes®  [1,20,000 | 62,000 |14,000 9,000
228 F: ] ’ ’

2)  TPGITO00T ERTIRT od e300 J0E dordnd.

by 25% O SRONE Smd SROMTNDIE Sk UG ETOORO B0
3ORTINTIZT T2, BBOMN. ' , |

0 B3I DR B, TRS0DY, 208 ongsdne Q90w

8 oo 3or 8p.28000 west B0me, mRERIIRE. et 2020.




